| L2 COMPUTE time per input event Entries 1999766
x10 Mean 35.42
[ C
c - RMS 6.09
S C
q>_,600 R | A Underflow 0
;\ : Overflow 2915
500:—""""" S RELLTTTY ST SRPPRPNE SEERRY ERPPRNY NN
400:_ ....................................................................
10 R T S R
200:_ .....................................................................
100:_ """ N | Pt R H H R
‘...i...Li\.L.i...i...i...i...i...i...
00 20 40 60 80 100 120 140 160 180

x: COMPUTE time (CPU kTics)

rate of COMPUTE | Entries 1999766
— Mean 1052
INISTOT0 ] b ey e Tt AR Tt T
T EF : : : : : : : [Rms 568
%800 P IR - - Underflow 0
S
.. Overflow7.347e+05

2700
600
500
400
300
200

100

0|||i|||il||i|||i|||i|||i|||i|||i|||i|||

0 200 400 600 800 1000 1200 1400 1600 1800 2000

x: time in this run (seconds)

[ L2-btow-calib: seen tokens | Entries 1999766

Mean 2048

RMS 1182

Underflow 0

5\ B Overflow 0

400_ ...... T e

T
e S e
100f—----- R e LR E R LR R R R REEEEEEE eneeeees EAEERRRES: -
O_lllli||||i||||i||||illllillllillllilllli

0 500
x: token value

1000 1500 2000 2500 3000 3500 4000

| total events. O=anylnput 10=anyAccept 11=normalAccept 12=rndAccept | Entries 1999766
Mean 0.5
RMS 0
6 Underflow 0
107 i Overflow 0
105 ......................................................................
10*
103 IiIIIiIIIiIIIilllilllilllilllilllil
0 2 4 6 10 12 16 18
Input: O=compute. Anything else=Contact Expert
BTOW #tower w/ energy /event | Entries 1999766
Mean 1.726
"""""""""""""""""""""""""""""" RMS 1.45
Underflow 0
............................................................ Overflow 0

.....................................................................

......................................................................

0
Fri Jul

40 60 80 100 120 140 160 180 200

3 06:44:57 2009 X: # BTOW towers

#BTOW towers / event , Et>1.50 GeV |

Entries 1999766

_____________________________________________________________ Mean 0.5032
RMS 0.05925
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
20 30 40 50 60 70 80 90 100

X: # BTOW towers




6368

Entries

o m e} Te) o o
) eI ©d e
Qv ® D9 ®23 O
oM ©—m © T m o™
(o)
= = p—
? @ —1 3 0
2 2 = 2
5 o 5|2
@ 3 o 3 o =
c = 2 c = = c =
c D X Sag?@ X = = * c
[ c 0= c O E
S W= w = ==

[ BTOW tower, Et>1.50 GeV (input) |

S N e et ————— [ S T -

L] EEEE]
o —
—

[ BTOW tower, Et>1.50 GeV (input) |

[ BTOW tower, Et>1.50 GeV (input) |

[ BTOW tower, Et>1.50 GeV (input) |

x: BTOW softID






6368

Entries

BTOW tower, Et>1.50 GeV (input)

35
X: eta bin, [-1,+1]

e, P AL gy A ..___."_.__ :
il _“_____., ."_“_“._______L_, ,_m._” vl

30

_,,,__,_,. REbL ;_____ﬁ et

-.- ; L -rﬂ- -f— -q- I-—_ H:- ﬂ . O

" _.. by R .. L
_______ ,_H M __.___.___._.__ ."_m”.___“___. ._._.q .

-i
BN

___HP_;_.____ _""_.__.__*_.____ ARACT YN

._._._. yd ..__.__._._ . :"_._____i.

O
A__Bomm Om_;._. ~ ulqg EQ A

60
0
20

Fri Jul 3 06:44:57 2009



